## समाचार पत्र में प्रकाशन बाबत

## कायोलय सहायक आयुक्त देवस्थान विभाग, अजमेर

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपूर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन - 0145-2970444 दिनांक : 05.03.2024

क्रमांक / लेखा / नवीन कार्य / देव / 2023-24 / 481

## निविदा सूचना संख्या :- 01/2023-24

भीलवाडा जिले के आसीन्द तहसील में स्थित निम्नलिखित राजकीय प्रत्यक्ष प्रभार श्रेणी मन्दिरों की मरम्मत एवं रंग रोशन का कार्यपंजीकृत ठेकेदार से निर्धारित प्रपत्र में मुहरबंद निविदाएं आमंत्रित की जाती है :-

क्र.सं.	राजकीय प्रत्यक्ष प्रभार मंदिर के नाम व विवरण	राशि
1	श्री दूल्हे गोपाल मंदिर तहसील–आसीन्द।	राशि 0.58 लाख
2	श्री नवल बिहारी जी मंदिर तहसील–आसीन्द।	राशि 0.79 लाख
3	श्री माताजी आसीन्दराई जी मंदिर तहसील–आसीन्द।	राशि 0.78 लाख
4	श्री लक्ष्मी नारायण मंदिर तहसील—आसीन्द।	राशि 0.79 लाख
5	श्री मांजीसा का नया मंदिर तहसील–आसीन्द।	राशि 0.78 लाख
6	श्री चारभुजा जी मंदिर करजालिया तहसील–आसीन्द।	राशि 0.69 लाख
7	श्री गोपालेश्वर मंदिर तहसील–आसीन्द।	राशि 0.79 लाख

प्रत्येक मंदिर हेतु पृथक निविदा प्रपत्र पूर्ण रूप से भरकर मय धरोहर राशि व निविदा शूल्क के डी.डी. / बैंकर चैक दिनांक 11.03.2024 तक दोपहर 2.00 बजे तक कार्यालय सहायक आयुक्त देवस्थान विभाग, अजमेर में प्रस्तुत करने होंगें। निविदा उसी दिन निविदाताओं के समक्ष दोपहर 3.00 बजे खोली जावेगी।

निविदा की अन्य शर्तें / विवरण की जानकारी किसी भी कार्य दिवस में कार्यालय से प्राप्त की जा सकती है। निविदा सूचना मय प्रपत्र व शर्ते विभागीय वेबसाईट devasthan.rajasthan.gov.inवsppp.rajasthan.gov.in्रपर देखी जा ,सकती है।

**NIB CODE: DEV2324A0131** 

**UBN IS: DEV2324WSRC00148** 

गिरीश कुमार बचानी)

सहायक आयुक्त

देवस्थान विभाग, अजमेर

## समाचार पत्र में प्रकाशन बाबत

## कार्यालय सहायक आयुक्त देवस्थान विभाग, अजमेर

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर)
E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444
क्रमांक/लेखा/नवीन कार्य/देव/2023—24/481 दिनांक: 05.03.2024

## निविदा सूचना संख्या :- 01/2023-24

भीलवाडा जिले के आसीन्द तहसील में स्थित निम्नलिखित राजकीय प्रत्यक्ष प्रभार श्रेणी मन्दिरों की मरम्मत एवं रंग रोशन का कार्यपंजीकृत ठेकेदार से निर्धारित प्रपत्र में मुहरबंद निविदाऐं आमंत्रित की जाती है :—

क्र.सं.	राजकीय प्रत्यक्ष प्रभार मंदिर के नाम व विवरण	राशि
1	श्री दूल्हे गोपाल मंदिर तहसील-आसीन्द।	राशि 0.58 लाख
2	श्री नवल बिहारी जी मंदिर तहसील–आसीन्द।	राशि 0.79 लाख
3	श्री माताजी आसीन्दराई जी मंदिर तहसील–आसीन्द।	राशि 0.78 लाख
4	श्री लक्ष्मी नारायण मंदिर तहसील–आसीन्द।	राशि 0.79 लाख
5	श्री मांजीसा का नया मंदिर तहसील–आसीन्द।	राशि 0.78 लाख
6	श्री चारभुजा जी मंदिर करजालिया तहसील–आसीन्द।	राशि 0.69 लाख
7	श्री गोपालेश्वर मंदिर तहसील–आसीन्द।	राशि 0.79 लाख

प्रत्येक मंदिर हेतु पृथक निविदा प्रपत्र पूर्ण रूप से भरकर मय धरोहर राशि व निविदा शुल्क के डी.डी. / बैंकर चैक दिनांक 11.03.2024 तक दोपहर 2.00 बजे तक कार्यालय सहायक आयुक्त देवस्थान विभाग, अजमेर में प्रस्तुत करने होंगें। निविदा उसी दिन निविदाताओं के समक्ष दोपहर 3.00 बजे खोली जावेगी।

निविदा की अन्य शर्तें / विवरण की जानकारी किसी भी कार्य दिवस में कार्यालय से प्राप्त की जा सकती है। निविदा सूचना मय प्रपत्र व शर्ते विभागीय वेबसाईट devasthan.rajasthan.gov.inवsppp.rajasthan.gov.in पर देखी जा सकती है।

(गिरींश कुमार बचानी) सहायक आयुक्त

देवस्थान विभाग, अजमेर

## **BID DOCUMENT**

Repair Works&Colour Paint Works

NIT No.01 / 2023-24

## (

# कार्यालय सहायक आयुक्त देवस्थान विभाग, अजमेर

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHA.N.GOV.IN फोन — 0145—2970444

## Notice Inviting Bid No. 01/2023-24

Offline bids are invited on behalf of the Governor of Rajasthan from eligible enlisted "A,B,C,D" class contractors, Rajasthan and meeting eligibility criteria. Details of this Bid notification and prequalification criteria can also be seen in NIB exhibited on web site http://sppp.rajasthan.gov.in

NIB No	Particulars of work	NIB Cost
	Repair Work&Colour Paint Work Of Temple Shri Dhule Gopal Ji, Tehsil Asind, Dist. Bhilwara	Rs 0.58 Lacs

### **Important Dates:-**

S.No.	Events	Date & time	Website / Locations	
1	Date & time for downloading	From 06-03-2024 09:30 AM to	http://www.sppp.rajasthan.	
1.	of bid document.	11-03-2024 up to 12.00 Noon	gov.in	
2.	Date & time for submission of bid document	11-03-2024 up to 2.00 PM	Office of the Assistant	
			Commissioner Devasthan	
			Department Ajmer	
	5 · 0 Ti ( 0 · · · · (	11-03-2024 up to 3.00 PM	Office of the Assistant	
3.	Date & Time for Opening of Bid.		Commissioner Devasthan	
			Department Ajmer	

#### 1. General details of bid:

S. No.	Item	Details
1.	Bid Document Cost	Rs. 100/- to be deposited through DD (Favour of Assistant Commissioner Devasthan Department Ajmer)
2.	Bid Security	Bid Security is 2%deposited through DD (Favour Of Assistant Commissioner Devasthan Department Ajmer)
3.	Period of completion	10 Days
4.	Liability Period	Six Months

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## **PRICE BID**

Name of Work: -

Repair Work&Colour Paint Work of Temple Shri Dhule Gopal

Ji, Tehsil Asind, Dist. Bhilwara

NIT No.:- 01/2023-24

Item No. :- 01

S.No.	Particulars	G-Schedule Amount	Rates to be quoted by the contractor
1.	Repair Work&Colour Paint Work Of Temple Shri Dhule Gopal Ji, Tehsil Asind, Dist. Bhilwara	58,800	% (above / Below)

#### **Terms & Conditions:-**

- G-Schedule is based on PWD BSR-2022. Any topographical error in nomenclature and rate
   of items shall be corrected as per relevant BSR and approved rates. In case of any dispute,
   decision of AC Devasthan DepartmentAjmer shall be final.
- Rates are inclusive of all leads and lifts if not especially not mentioned.

3. GST, income tax, royalty and other taxes will be recovered as per rules and rates and as per the directions issued by the Govt. and effective during the contract period.

Signature of Contractor

Estimated Earnest Money Tender Period Date of Cost 2% Fee Selling Receipt

#### SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI DULHE GOPAL JI, ASIND, DISTT. BHILWARA. (RAJ.)

S.	BSR	Particular   Quantity   Rate   Unit   Amount				
No	Ref.	rarticular .	Quantity	Rate	Unit	Amount
1.	B-40 5-1-1	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)		240.00	p.cum	2400.00
2.	B-142 12.22	Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth complete	50.00Sqm	46.00	P.sqm	2300.00
3.	B-143 14.54	Dismantling of old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqmt	15.00	p.sqmt	1500.00
4.	B-128 12.67.1	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	350.00sqm	80.00	p.sqmt	28000.00
5.	B-12 12.68.1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.00
6.		old work (one or more coats) including scrapping and priming coat and necessary repairs.	500.00sqm	22.00	p.sqmt	11000.00
	\		/	1	Total Rs,	58800.00

Assistant Engineer Devasthan, Udaipur

the "G" Schedule

ssistant Commissioner Devasthan, Ajmer.

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## Notice Inviting Bid No. 01/2023-24

Offline bids are invited on behalf of the Governor of Rajasthan from eligible enlisted "A,B,C,D" class contractors, Rajasthan and meeting eligibility criteria. Details of this Bid notification and prequalification criteria can also be seen in NIB exhibited on web site http://sppp.rajasthan.gov.in

NIB No	Particulars of work	NIB Cost
01/ 2023-24	Repair Work&Colour Paint Work Of Temple Shri Nawal Behari Ji, Asind, Dist. Bhilwara	Rs 0.79 Lacs

### **Important Dates:-**

S.No.	Events	Date & time	Website / Locations
	Date & time for downloading	From 06-03-2024 09:30 AM to	http://www.sppp.rajasthan.
1.	of bid document.	11-03-2024 up to 12.00 Noon	gov.in
THE STATE OF	Date & time for submission of bid document	11-03-2024 up to 2.00 PM	Office of the Assistant
2.			Commissioner Devasthan
			Department Ajmer
		11-03-2024 up to 3.00 PM	Office of the Assistant
3.	Date & Time for Opening of Bid.	and the last of th	Commissioner Devasthar
			Department Ajmer

#### 2. General details of bid:

S. No.	Item	Details
1.	Bid Document Cost	Rs. 100/- to be deposited through DD (Favour of Assistant Commissioner Devasthan Department Ajmer)
2.	Bid Security	Bid Security is 2%deposited through DD (Favour Of Assistant Commissioner Devasthan Department Ajmer)
3.	Period of completion	10 Days
4.	Liability Period	Six Months

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## **PRICE BID**

Name of Work: -

Repair Work&Colour Paint Work Of Temple Shri Nawal Behari Ji, Asind, Dist. Bhilwara

NIT No.:- 01/2023-24

Item No. :- 01

S.No.	Particulars	G-Schedule Amount	Rates to be quoted by the contractor
1.	Repair Work&Colour Paint Work Of Temple Shri Nawal Behari Ji, Asind, Dist. Bhilwara	79,640	% (above / Below)

## **Terms & Conditions:-**

- G-Schedule is based on PWD BSR-2022. Any topographical error in nomenclature and rate
  of items shall be corrected as per relevant BSR and approved rates. In case of any dispute,
  decision of AC Devasthan Department Ajmer shall be final.
- 2. Rates are inclusive of all leads and lifts if not especially not mentioned.
- 3. GST, income tax, royalty and other taxes will be recovered as per rules and rates and as per the directions issued by the Govt. and effective during the contract period.

Signature of Contractor

Estimated Cost

Earnest Money 2%

Tender Fee .

Period

Date of Selling Date of Receipt

### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI NAVAL BIHARI JI, ASIND, DISTT. BHILWARA. (RAJ.)

{Based on	P.W.D.	B.S.R.2022}	
-----------	--------	-------------	--

S. No	BSR Ref.	Particular .	Quantity	Rate	Unit	Amount
1.	B-40 5-1-1	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142 12.22	Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth complete	50.00Sqm	46.00	P.sqm	2300.00
3.	B-132 13.1	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	30.00sqmt	318.00	p.sqmt	9540.00
4.	B-143 14.54	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqmt	15.00	p.sqmt	1500.00
5.	B-128 12.67.1	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	450.00sqm	80.00	p.sqmt	36000.00
5.	B-12 12.68.1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.00
·	700	old work (one or more coats) including scrapping and priming coat and necessary repairs.	650.00sqm	22.00		14300.00
		incoessary repairs.	050.0034111	22.00	p.sqmt Total Rs.	79640.0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Ajmer.

I /We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## Notice Inviting Bid No. 01/2023-24

Offline bids are invited on behalf of the Governor of Rajasthan from eligible enlisted "A,B,C,D" class contractors, Rajasthan and meeting eligibility criteria. Details of this Bid notification and prequalification criteria can also be seen in NIB exhibited on web site http://sppp.rajasthan.gov.in

NIB No	Particulars of work	NIB Cost
01/ 2023-24	Repair Work&Colour Paint Work Of Temple Shri Mata Ji Asindrai Ji, Asind, Dist. Bhilwara	Rs 0.78 Lacs

### **Important Dates:-**

S.No.	Events	Date & time	Website / Locations
1	Date & time for downloading	From 06-03-2024 09:30 AM to	http://www.sppp.rajasthan.
1.	of bid document.	11-03-2024 up to 12.00 Noon	gov.in
19(1)(1)	Data O time for submission of	11-03-2024 up to 2.00 PM	Office of the Assistant
2.	Date & time for submission of	to the Company of the	Commissioner Devasthan
	bid document	The second section is a second second	Department Ajmer
		11-03-2024 up to 3.00 PM	Office of the Assistant
3.	Date & Time for Opening of	An extension Solution of the	Commissioner Devasthan
	Bid.	genetti. 1944 kilegistik kuloni	Department Ajmer

#### 3. General details of bid:

S. No.	Item	Details
1.	Bid Document Cost	Rs. 100/- to be deposited through DD (Favour of Assistant Commissione
ters a sec	dia 41 manjarah	Devasthan Department Ajmer)
2.	Bid Security	Bid Security is 2%deposited through DD (Favour Of Assistant
	199	Commissioner Devasthan Department Ajmer)
3.	Period of completion	10 Days
4.	Liability Period	Six Months $\land$

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## **PRICE BID**

Name of Work: -

Repair Work&Colour Paint Work Of Temple Shri Mata Ji

Asindrai Ji, Asind, Dist. Bhilwara

NIT No.:- 01/2023-24

Item No. :- 01

S.No.	Particulars	G-Schedule Amount	Rates to be quoted by the contractor
1.	Repair Work/Colour Paint Work Of Temple Shri Mata Ji Asindrai Ji, Asind, Dist. Bhilwara	/ 0.050	% (above / Below)

#### **Terms & Conditions:-**

- 1. G-Schedule is based on PWD BSR-2022. Any topographical error in nomenclature and rate of items shall be corrected as per relevant BSR and approved rates. In case of any dispute, decision of AC Devasthan Department Ajmer shall be final.
- 2. Rates are inclusive of all leads and lifts if not especially not mentioned.
- GST, income tax, royalty and other taxes will be recovered as per rules and rates and as per the directions issued by the Govt. and effective during the contract period.

Signature of Contractor

Date of Date of Tender Period **Estimated Earnest Money** Receipt Selling Fee Cost 2%

#### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MATA JI & ASINDRAI JI TEMPLE, ASIND, DISTT. BHILWARA. (RAJ.)

{Based on P.W.D. B.S.R.2022}

		{Based on P.W.D. B.S.R.2022}					
S. No	BSR Ref.	Particular	Quantity	Rate	Unit	Amount	
1.	B-40 5-1-1	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00	
2.	B-142 12.22	Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth complete	50.00Sqm	46.00	P.sqm	2300.00	
3.	B-132 13.1	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	25.00sqmt	318.00	p.sqmt	7950.00	
4.	B-143 14.54	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqmt	15.00	p.sqmt	1500.00	
5.	B-128 12.67.1	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.		80.00	p.sqmt	36000.00	
i.	B-12 12.68.1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.		69.00	p.sqmt	13600.00	
		old work (one or more coats) including scrapping and priming coat and necessary repairs.		22.00	p.sqmt	14300.0	
_		Committee of the Commit	•	$\wedge$	Total Rs.	78050.0	

Assistant Engine

Devasthan, Udaipur

sistant Commissioner Devasthan, Ajmer.

I /We hereby agreed to completed the above work @ --the "G" Schedule

-----% Above /below

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## Notice Inviting Bid No. 01/2023-24

Offline bids are invited on behalf of the Governor of Rajasthan from eligible enlisted "A,B,C,D" class contractors, Rajasthan and meeting eligibility criteria. Details of this Bid notification and prequalification criteria can also be seen in NIB exhibited on web site http://sppp.rajasthan.gov.in

NIB No	Particulars of work	NIB Cost
	Repair Work&Colour Paint Work Of Temple Laxmi Narayan Ji , Asind, Dist. Bhilwara	Rs 0.79 Lacs

### **Important Dates:-**

		Date & time	Website / Locations
S.No.	Events		
	Date & time for downloading	From 06-03-2024 09:30 AM to	http://www.sppp.rajasthan.
1.	of bid document.	11 00 202 : 00	gov.in
		11-03-2024 up to 2.00 PM	Office of the Assistant
_	Date & time for submission of	•	Commissioner Devasthan
2.	bid document	The state of the s	Department Ajmer
		11-03-2024 up to 3.00 PM	Office of the Assistant
	Date & Time for Opening of	11 00 202 . up 10 110	Commissioner Devasthar
3.	Bid.		Department Ajmer

## 4. General details of bid:

S. No.	Item	Details			
	Bid Document Cost	Rs. 100/- to be deposited through DD (Favour of Assistant Commissione Devasthan Department Ajmer)			
2.	Bid Security	Bid Security is 2%deposited through DD (Favour Of Assistant Commissioner Devasthan Department Ajmer)			
3.	Period of completion	10 Days			
	Liability Period	Six Months			

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर)

## **PRICE BID**

Name of Work: -

Repair Work&Colour Paint Work Of Temple Laxmi Narayan Ji

, Asind, Dist. Bhilwara

NIT No.:- 01/2023-24

Item No. :- 01

S.No.	Particulars	G-Schedule Amount	Rates to be quoted by the contractor
1.	Repair Work&Colour Paint Work Of Temple Laxmi Narayan Ji, Asind, Dist. Bhilwara	79,640	% (above / Below)

## **Terms & Conditions:-**

- G-Schedule is based on PWD BSR-2022. Any topographical error in nomenclature and rate
  of items shall be corrected as per relevant BSR and approved rates. In case of any dispute,
  decision of AC Devasthan Department Ajmer shall be final.
- 2. Rates are inclusive of all leads and lifts if not especially not mentioned.

3. GST, income tax, royalty and other taxes will be recovered as per rules and rates and as per the directions issued by the Govt. and effective during the contract period.

Signature of Contractor

Date of Date of Period Tender Earnest Money **Estimated** Receipt Selling Fee 2% Cost

### SCHEUDLE "G"

NAME OF WORK: - NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI LAXMI NARAYA JI, ASIND, DISTT. BHILWARA . (RAJ.)

		{Based on P.W.D. B.S.R.2022}				
S. No	BSR Ref.	Particular .	Quantity	Rate	Unit	Amount
1.	B-40 5-1-1	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00
2.	B-142 12.22	Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth complete	50.00Sqm	46.00	P.sqm	2300.00
3.	B-132 13.1	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	30.00sqmt	318.00	p.sqmt	9540.00
4.	B-143 14.54	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqmt	15.00	p.sqmt	1500.00
5.	B-128 12.67.1	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.	450.00sqm	80.00	p.sqmt	36000.00
6.	B-12 12.68.1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.00
7.		old work (one or more coats) including scrapping and priming coat and necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00

Assistant Engineer Devasthan, Udaipur ssistant Commissioner Devasthan, Ajmer.

I /We hereby agreed to completed the above work @ -the "G" Schedule

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## Notice Inviting Bid No. 01/2023-24

Offline bids are invited on behalf of the Governor of Rajasthan from eligible enlisted "A,B,C,D" class contractors, Rajasthan and meeting eligibility criteria. Details of this Bid notification and prequalification criteria can also be seen in NIB exhibited on web site http://sppp.rajasthan.gov.in

NIB No	Particulars of work	NIB Cost
01/ 2023-24	Repair Work&Colour Paint Work of Majhisa ka Naya Temple Ji, Asind, Dist. Bhilwara	Rs 0.70 Lacs

### **Important Dates:-**

S.No.	Events	Date & time	Website / Locations
	Date & time for downloading	From 06-03-2024 09:30 AM to	http://www.sppp.rajasthan.
1.	of bid document.	11-03-2024 up to 12.00 Noon	gov.in
		11-03-2024 up to 2.00 PM	Office of the Assistant
2.	Date & time for submission of bid document		Commissioner Devasthan
			Department Ajmer
		11-03-2024 up to 3.00 PM	Office of the Assistant
3.	Date & Time for Opening of	lan allem Teter see e	Commissioner Devasthan
	Bid.		Department Ajmer

## 5. General details of bid:

S. No.	Item	Details
1.	Bid Document Cost	Rs. 100/- to be deposited through DD (Favour of Assistant Commissioner
Devasth		Devasthan Department Ajmer)
2.	Bid Security	Bid Security is 2%deposited through DD (Favour Of Assistant
		Commissioner Devasthan Department Ajmer)
3.	Period of completion	10 Days
4.	Liability Period	Six Months

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## **PRICE BID**

Name of Work: -

Repair Work&Colour Paint Work of Majhisa ka Naya Temple

Ji, Asind, Dist. Bhilwara

NIT No.:- 01/2023-24

Item No. :- 01

S.No.	Particulars	G-Schedule Amount	Rates to be quoted by the contractor
1.	Repair Work&Colour Paint Work of Majhisa ka Naya Temple Ji, Asind, Dist. Bhilwara	78,050	% (above / Below)

#### **Terms & Conditions:-**

- G-Schedule is based on PWD BSR-2022. Any topographical error in nomenclature and rate
  of items shall be corrected as per relevant BSR and approved rates. In case of any dispute,
  decision of AC Devasthan Department Ajmer shall be final.
- 2. Rates are inclusive of all leads and lifts if not especially not mentioned.
- 3. GST, income tax, royalty and other taxes will be recovered as per rules and rates and as per the directions issued by the Govt. and effective during the contract period.

Signature of Contractor

Earnest Money Period Date of Date of Estimated Tender Selling Receipt 2% Cost Fee ·

### SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI MAAJI SA KA NAYA MANDIR ASIND, DISTT. BHILWARA. (RAJ.)

	<del></del>				W.D. B.S.R.2022}			
S. No	BSR Ref.	Particular .	Quantity	Rate	Unit	Amount		
1.	B-40	Carriage of earth/ building material and						
	5-1-1	road material etc. by manual or by	-					
	- Tangasa	mechanical transport including loading						
		unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00		
2.	B-142	Providing and applying white cement	Lauren	a of a col				
	12.22	based putty over plastered surface to	(Lett)					
		prepare the surface even and smooth	Declared Sec.	For February	Sucreya - 11			
		complete	50.00Sqm	46.00	P.sqm	2300.00		
3.	B-132	Repair to stone masonry in cement sand						
	13.1	mortar 1:6 with old and new stones.	25.00sqmt	318.00	p.sqmt	7950.00		
4.	B-143	Dismantling of old plaster or skirting		E ADMY.				
	14.54	,raking out joints and cleaning the		0.59				
		surface for plaster including disposal of						
	Q* K W	rubbish to the dumping ground within 50	100.00 sqmt	15.00	p.sqmt	1500.00		
		meter lead.		11-121-1		1 200		
5.	B-128	Wall painting with plastic emulsion						
	12.67.1	paint of approved brand and						
		manufacture to give an even shade. New	1					
		work including preparation of base with			1			
		primer putty lippy complete in all		la paleti		194		
- 11		respect.	450.00sqm	80.00	p.sqmt	36000.00		
<b>5.</b>	B-12	Painting with enamel paint of approved	No. of the last of					
	12.68.1	brand and manufacture to give an even						
700		shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.00		
		old work (one or more coats) including						
		scrapping and priming coat and						
		necessary repairs.	650.00sqm	22.00	p.sqmt	14300.00		
1	Mich Valle of	Epon trailed on them in our short of the same of the s		$\wedge$	Total Rs.	78050.00		

Devasthan, Udaipur

ssistant Commissioner Devasthan, Ajmer.

I /We hereby agreed to completed the above work @ ------ Above /below the "G" Schedule

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## Notice Inviting Bid No. 01/2023-24

Offline bids are invited on behalf of the Governor of Rajasthan from eligible enlisted "A,B,C,D" class contractors, Rajasthan and meeting eligibility criteria. Details of this Bid notification and prequalification criteria can also be seen in NIB exhibited on web site http://sppp.rajasthan.gov.in

NIB No	Particulars of work	NIB Cost
01/ 2023-24	Repair Work&Colour Paint Work of Charbhuja Ji Karjaliya, Asind, Dist. Bhilwara	Rs 0.63 Lacs

## **Important Dates:-**

S.No.	Events	Date & time	Website / Locations
1	Date & time for downloading	From 06-03-2024 09:30 AM to	http://www.sppp.rajasthan.
1.	of bid document.	11-03-2024 up to 12.00 Noon	gov.in
	Date & time for submission of bid document	11-03-2024 up to 2.00 PM	Office of the Assistant
2.		Ster virilis insure fully assured to the mini-	Commissioner Devasthan
		the entropy of \$40, and a second	Department Ajmer
		11-03-2024 up to 3.00 PM	Office of the Assistant
3.	Date & Time for Opening of		Commissioner Devasthan
	Bid.		Department Ajmer

#### 6. General details of bid:

S. No.	Item	Details		
1.	Bid Document Cost	Rs. 100/- to be deposited through DD (Favour of Assistant Commissioner Devasthan Department Ajmer)		
2.	Bid Security	Bid Security is 2%deposited through DD (Favour Of Assistant Commissioner Devasthan Department Ajmer)		
3.	Period of completion	10 Days		
4.	Liability Period	Six Months		

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## **PRICE BID**

Name of Work: -

Repair Work&Colour Paint Work of Charbhuja Ji Karjaliya,

Asind, Dist. Bhilwara

NIT No.:- 01/2023-24

Item No. :- 01

S.No.	Particulars	G-Schedule	Rates to be quoted by the
		Amount	contractor
1.	Repair Work&Colour Paint Work of Charbhuja Ji Karjaliya, Asind, Dist. Bhilwara	69,550	% (above / Below)

### **Terms & Conditions:-**

- G-Schedule is based on PWD BSR-2022. Any topographical error in nomenclature and rate
  of items shall be corrected as per relevant BSR and approved rates. In case of any dispute,
  decision of AC Devasthan Department Ajmer shall be final.
- 2. Rates are inclusive of all leads and lifts if not especially not mentioned.
- 3. GST, income tax, royalty and other taxes will be recovered as per rules and rates and as per the directions issued by the Govt. and effective during the contract period.

Signature of Contractor

Date of Tender Period Date of **Estimated** Earnest Money Receipt 2% Fee Selling Cost

#### SCHEUDLE "G "

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI CHARBHUJA JI, KARJALIYA ASIND, DISTT. BHILWARA. (RAJ.)

(Based on P.W.D. R.S.R.2022)

		{Based on P.W.D. B.S.R.2022}					
S. No	BSR Ref.	Particular	Quantity	Rate	Unit	Amount	
1.	B-40 5-1-1	Carriage of earth/ building material and road material etc. by manual or by mechanical transport including loading unloading etc. (lead for 20 km)	10.00 cum	240.00	p.cum	2400.00	
2.	B-142 12.22	Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth complete	50.00Sqm	46.00	P.sqm	2300.00	
3.	B-143 14.54	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.		15.00	p.sqmt	1500.00	
4.	B-128 12.67.1	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.		80.00	p.sqmt	36000.00	
5.	B-12 12.68.1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.		69.00	p.sqmt	13600.00	
5.		old work (one or more coats) including scrapping and priming coat and necessary repairs.		22.00	p.sqmt	13750.00	
1				1	Total Rs	69550.0	

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Ajmer.

I /We hereby agreed to completed the above work @ -----% Above /below the "G" Schedule

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## Notice Inviting Bid No. 01/2023-24

Offline bids are invited on behalf of the Governor of Rajasthan from eligible enlisted "A,B,C,D" class contractors, Rajasthan and meeting eligibility criteria. Details of this Bid notification and prequalification criteria can also be seen in NIB exhibited on web site http://sppp.rajasthan.gov.in

Particulars of work	NIB Cost
Repair Work&Colour Paint Work of Temple Shri Gopaleshwar Ji, Asind, Dist. Bhilwara	Rs 0.70 Lacs
R	epair Work&Colour Paint Work of Temple Shri

### **Important Dates:-**

S.No.	Events	Date & time	Website / Locations
1.	Date & time for downloading	From 06-03-2024 09:30 AM to	http://www.sppp.rajasthan.
1.	of bid document.	11-03-2024 up to 12.00 Noon	gov.in
	Date & time for submission of	11-03-2024 up to 2.00 PM	Office of the Assistant
2.	bid document		Commissioner Devasthan
	bid document		Department Ajmer
	Data & Time for Opening of	11-03-2024 up to 3.00 PM	Office of the Assistant
3.	Date & Time for Opening of	The second secon	Commissioner Devasthan
	Bid.		Department Ajmer

#### 7. General details of bid:

S. No.	Item	Details
1.	Bid Document Cost	Rs. 100/- to be deposited through DD (Favour of Assistant Commissioner Devasthan Department Ajmer)
2.	Bid Security	Bid Security is 2%deposited through DD (Favour Of Assistant Commissioner Devasthan Department Ajmer)
3.	Period of completion	10 Days
4.	Liability Period	Six Months \( \)

(पताः राजस्थान लोक सेवा आयोग के सामने, कांकरदा भूणाभाय, जयपुर रोड़, अजमेर) E-mail: AC.AJMER.DEV@RAJASTHAN.GOV.IN फोन — 0145—2970444

## **PRICE BID**

Name of Work: -

Repair Work&Colour Paint Work of Temple Shri Gopaleshwar

Ji, Asind, Dist. Bhilwara

NIT No.:- 01/2023-24

Item No. :- 01

S.No. 1.	Particulars	G-Schedule Amount	Rates to be quoted by the contractor		
	Repair Work&Colour Paint Work of Temple Shri Gopaleshwar Ji, Asind, Dist. Bhilwara	79,640	% (above / Below)		

#### Terms & Conditions:-

- G-Schedule is based on PWD BSR-2022. Any topographical error in nomenclature and rate
  of items shall be corrected as per relevant BSR and approved rates. In case of any dispute,
  decision of AC Devasthan Department Ajmer shall be final.
- 2. Rates are inclusive of all leads and lifts if not especially not mentioned.
- 3. GST, income tax, royalty and other taxes will be recovered as per rules and rates and as per the directions issued by the Govt. and effective during the contract period.

Signature of Contractor

Estimated Earnest Money Tender Period Date of Cost 2% Fee Selling Receipt

## SCHEUDLE "G"

NAME OF WORK: - REPAIR WORK OF TEMPLE SHRI GOPALESHWAR JI, ASIND, DISTT. BHILWARA. (RAJ.)

{Based on P.W.D. B.S.R.2022}

S. No	BSR Ref.	Particular .	Quantity	Rate	Unit	Amount
1.	B-40 5-1-1	diffording etci ( tene to be to tell)	10.00 cum	240.00	p.cum	2400.00
2.	B-142 12.22	Providing and applying white cement based putty over plastered surface to prepare the surface even and smooth complete	50.00Sqm	46.00	P.sqm	2300.00
3.	B-132 13.1	Repair to stone masonry in cement sand mortar 1:6 with old and new stones.	30.00sqmt	318.00	p.sqmt	9540.00
4.	B-143 14.54	Dismantling of old plaster or skirting ,raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 meter lead.	100.00 sqmt	15.00	p.sqmt	1500.00
5.	B-128 12.67.1	Wall painting with plastic emulsion paint of approved brand and manufacture to give an even shade. New work including preparation of base with primer putty lippy complete in all respect.		80.00	p.sqmt	36000.00
6.	B-12 12.68.1	Painting with enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work.	200.00sqmt	69.00	p.sqmt	13600.0
7.		old work (one or more coats) including scrapping and priming coat and necessary repairs.		22.00	p.sqmt Total Re	14300.0 3. <b>79640.</b> 0

Assistant Engineer Devasthan, Udaipur Assistant Commissioner Devasthan, Ajmer.

1/We hereby agreed to completed the above work @ -----the "G" Schedule

-----% Above /below

## ई-निविदा की शर्ते

निविदा प्रपत्रों को वेबसाईट http://sppp.rajasthan.gov.in से डाउनलोड किया जा सकता है। इस निविदा में भाग लेने वाले संवेदक निविदा के निविदा प्रपत्र मय निविदा शुल्क सहित मोहर बंद लिफाफे में कार्यालय सहायक आयुक्त देवस्थान विभाग, अजमेर में जमा कराएें।

निविदा हेतु ए, बी, सी, डी श्रेणी के संवेदक पात्र होंगें।

- 1. धरोहर राशि निविदा प्रपत्र में दर्शायी गई कुल अनुमानित लागत की दो प्रतिशत होगी, जो नियमानुसार सहायक आयुक्त, देवस्थान विभाग, अजमेर के नाम देय होगी।
- 2. निविदाप्रपत्रों हेतु आवेदनडाउनलोड करने की अवधि दिनांक06.03.2024 प्रातः 09.30 बजे से दिनांक 11.03.2024 मध्याह 12.00 बजेतक होगी।
- 3. निविदा प्रपत्र कार्यालय सहायक आयुक्त, देवस्थान विभाग, अजमेर में दिनांक 11.03.2024 मध्याह 2.00 बजे तक जमा कराये जा सकते है एवं प्राप्त निविदायें, उपस्थित निविदादाताओं के समक्ष कार्यालय परिसर में दिनांक 11.03.2024 को दोपहर 03.00 बजे खोली जायेगी। यदि किसी कारणवश उस दिन अवकाश रहता है तो अगले दिन उसी समय व उसी स्थान पर निविदा खोली जाएगी।
- 4. कार्यों के सम्मुख उपरोक्तानुसार वर्णित कार्यालय में संवेदक द्वारा दिनांक 06.03.2024 से दिनांक 11.03.2024 तक किसी भी कार्य दिवस में निविदा प्रपत्र को देखा जा सकता है अथवा वेबसाईट http://sppp.rajasthan.gov.inपर भी देखा जा सकता है। निविदा प्रपत्रों के साथ निविदाकर्ता के लिए योग्यता सूचना तथा निविदाकर्ता की पात्रता, स्पेसिफिकेशन विभिन्न कार्यो की मात्रा एवं दरों का विवरण, नियम, शर्ते एवं अन्य विवरण वर्णित है।
- 5. निविदा प्रपत्र इस कार्यालय में दिनांक 11.03.2024कोदोपहर2.00 बजे तक जमा कराना आवश्यक है। निविदा प्रपत्र के साथ निविदा शुल्क राशि रूपये 100/— (अक्षरे रूपये सौ मात्र) डिमाण्ड ड्राफ्ट सहायक आयुक्त, देवस्थान विभाग, अजमेर में जमा कराना होगा।
- 6. निविदा खोलने की दिनांक से 3 दिवसों तक निविदा स्वीकृति हेतु मान्य (open) रहेगी। यदि निविदाकर्ता उस अवधि में अपनी निविदा अथवा शर्तो में किसी प्रकार का संशोधन करता है अथवा अपनी निविदा वापस ले लेता है तो उसकी धरोहर राशि जब्त कर ली जावेगी।
- 7. प्रत्येक मंदिर के निर्धारित कार्य अधिकतम राशि रूपये 80,000 / का भुगतान किया जा सकेगा।
- 8. यदि संवेदक का नजदीकी रिश्तेदार (प्रथम रक्त संबंध व उनके पति/पित्न) कार्य से संबंधित वृत्त अथवा अधीनस्थ कार्यालय में खण्डीय लेखाकार अथवा सहायक आयुक्त/सहायक अभियन्ता का किसी भी स्तर पर पदस्थापित हो तो उसके कार्य पर नियुक्त करने पर प्रतिबन्ध रहेगा।
- 9. राज्य सरकार में किसी भी अभियांत्रिकी विभाग में किसी भी इंजीनियर अथवा इंजीनियरिंग या प्रशासनिक कार्य पर नियुक्त राजपत्रित अधिकारी राज्य सरकार की अनुमित के बिना सेवा निवृति के 2 वर्ष तक संवेदक अथवा उसके कर्मचारी के रूप में कार्य नहीं कर सकेंगे। यदि संवेदक व उसके कर्मचारियों में कोई ऐसा व्यक्ति जिसने राज्य सरकार की उक्त लिखित अनुमित निविदा जमा कराने से पहले अथवा संवेदक के यहाँ सेवाए देने से पहले अनुमित नहीं ली है तो अनुबन्ध रद्द किया जा सकेगा।
- 10. निविदादाता इन प्रपत्रों को (Download) कर सकते है। निविदादाता द्वारा निविदा शुल्क डिमाण्ड ड्राफ्ट के रूप में संबंधित कार्यालय में निर्धारित तिथि तक जमा कराना आवश्यक है।

11. किसी भी निविदा को स्वीकार करने एवं बिना कारण बताये निरस्त करने के समस्त अधिकार सक्षम अधिकारी के पास सुरक्षित है। आर.पी.ड्ब्ल्यु ए—100 की समस्त शर्ते मान्य होगी।

> /(गिरीश कुमार बचानी) सहायक आयुक्त देवस्थान विभाग, अजमेर

mioni